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QUESTION 1

Examine this PeopleCode snippet: 

Local Rowset andRS_Level0, andRS_Level1; 

Local Row andRow_Level0, andRow_Level1; 

Local Record andRec_EMPLOYEE; 

Local Field andFld_ROLE; 

andRS_LEVEL0 = GetLevel0(); 

andROW_LEVEL0 = andRS_Level0.GetRow(1); 

andRS_LEVEL1 = andROW_LEVEL0.GetRowSet(SCROLL.DEPT); 

andROW_LEVEL1 = andRS_LEVEL1(1); 

andREC_EMPLOYEE = andROW_LEVEL1.EMPLOYEE; 

andFLD_EMPID = andREC_TASKRSRC.EMPID; 

andID = andFLD_EMPID.Value; 

Can the code given above be replaced with the following statement? 

andID = GetField().Value 

A. No. The record must be specified. 

B. No. The row and record must be specified. 

C. Yes, if the code is placed on the current row. 

D. Yes, if the code is placed on the EMPID field. 

E. Yes, if the code is placed on the EMPLOYEE record. 

Correct Answer: D 

 

QUESTION 2

You attempt to drag the ADDR_SBP subpage into the PSU_HOTEL page. The insert gives you an error and fails. Select
the most likely reason why this occurred. 

A. The Page Type property of the ADDR_SBP subpage was not setto \\'subpage\\'. 

B. The Subpage Record Name Substitution property was not set to the correct record. 

C. The autosize setting on the subpage was not set and the subpage was too big for the page. 
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D. The autosize setting on the page was not set and the page cannot expand to accommodate the subpage. 

Correct Answer: A 

 

QUESTION 3

Select the option that correctly demonstrates a parent/child relationship where the first record definition is the parent and
the second record definition is the child. 
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A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: D 

 

QUESTION 4

You run this SQL statement in your query tool: 

SELECT * FROM DBA_OBJECTS; 

Assuming that the syntax is correct for your platform, what does the statement select from? 

A. PeopleTools tables 

B. System catalog tables 

C. Application data tables 

D. Related language tables 

Correct Answer: B 

 

QUESTION 5

Within the component processor flow, the component build process is a loop that executes until _____. 

A. the End Build marker is reached 

B. the entire component-level PeopleCodeexecutes 

C. all the page elements are retrieved and displayed 

D. all the rows in the record are loaded into the buffer 

E. all the rows that were selected from the database are loaded into the buffer 

Correct Answer: E 
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